(#25wE 3-30mm )

R=500

B2

B

CF--BR
ATEEI -
B (%%)
FRE A miA
mm |  s@EsE EiHME HEIE B4 E g |P|C |4 G
3|CF 3 BRICF3 B/CF 3 BUURCF 3 BUU| 43|10 7 3 M 3x05
4 |CF 4 BRICF 4 B/CF 4 BUUR CF 4 BUU| 7.4|12 4 |M 4x0.7
5 |CF 5 BRICF 5 B/CF 5 BUUR CF 5 BUU| 10.3|13 5 |M 5x0.8
6 |CF 6 BRICF 6 B/[CF 6 BUURCF 6 BUU| 185[16/11 6 M 6x1
8 |CF 8 BRCF 8 BCF 8 BUURCF 8 BUU| 285[19/11 8|M 8x1.25
10 |CF10 BR CF10 B CF10 BUUR CF10 BUU| 45 |22 12|10 M10x1.25
CF 10-1 BR CF 10-1 B CF 10-1 BUUR |CF 10-1 BUU| 60 |26 12|10 [M10x1.25
12 |CF12 BR CF12 B CF12 BUUR CF12 BUU| 95 [30 14 12 M12x1.5
CF 12-1 BR | CF 12-1 B |CF 12-1 BUUR |CF 12-1 BUU| 105 |32 |14 12 M12x1.5
16 |CF16 BR|/CF16 B /CF16 BUUR CF16 BUU| 170 [35|18 16 M16x1.5
18 |CF18 BR/CF18 B /CF18 BUUR CF18 BUU| 250 [40|20 18 M18x1.5
0 |CF20 BR CF20 B CF20 BUUR CF20 BUU| 460 |52 24 20 M20x1.5
CF 20-1 BR | CF 20-1 B | CF 20-1 BUUR | CF 20-1 BUU| 385 |47 |24 20 M20x1.5
o4 |CF24 BR CF24 B CF24 BUUR CF24 BUU| 815 |62 29 24 M24x15
CF 24-1 BR | CF 24-1 B | CF 24-1 BUUR |CF 24-1 BUU | 1 140 |72 |29 | 24 M24x1.5
CF30 BR|/CF30 B CF30 BUUR CF30 BUU|1870 | 80|35 30 M30x1.5
30 |CF 30-1 BR CF 30-1 B | CF 30-1 BUUR CF 30-1 BUU|2 030 |85 |35 30 |M30x1.5
CF 30-2 BR | CF 30-2 B | CF 30-2 BUUR | CF 30-2 BUU | 2 220 |90 |35 | 30 M30x1.5
EE (1) EREARST r e BEERS -

fiwzt 1.

BIRERd 1 B 4mm DU EHA ~RHERd 1 B5Smmsd1<10mm #9 - SEZREEMFL (IHE) - E TRTEI25REEE8 L35 m7L (f8

M) - SMERumE ERRA ML -
2. BEHERERBEE J1 & 10mm U THEEHECHAERE - HErRHEAERE

BEEREEREA -
1

350 EREEENEE R/ R TEL: 886-3-3235599 FAX : 886-3-3136966 www.wjbmotion.com



CF--B GF--BUUR CF--BUU
=Y | B | Bk | EohmT | BAsE
R | % | BES | a8 |BFs0
o &, A
; s L bl )

Gy B By B | By | €l & | & | H s o INem| N N N
5| 8 i 9 | —|oB|—|—| 2 |o2| 88| 034 1500| 1020] 384
6| 9 20 11 |—|os|—|—| 28/03| 83| 078 2070| 1690| B34
7510 23 13 |—|o8|—|—| 3 |03| 93| 18| 2520| 2140/ 1 260
8 |12 2max| 282max|16 | — |08 —|—| 3 |03| 11 27 | 3660| 3650 1950
10 |12.2max| 32.2max|20 | — 06| — | — | 4 |03]| 13 6.5 | 4250| 4740 | 4620
12 |13.2max| 362max|23 | — |08| —| —| 4 |03]| 18 13.8 | 5430| 6890| 6890
12 |13.2max| 362max|23 | —|oB| —|—| 4 |03| 18 13.8 | 5430| 6890| &B90
13 |15.2max| 402max|26 | 6|086| 4 | 3| 8 |08]| 21 21.8 | 7910| 9790| 9790
13 | 16.2max| 402max|25 | 68|08| 4 | 3| 68 |08 21 21.9 | 7910| 9790| 9790
17 | 19.8max| 652 1max|326| 8|08| 4 | 3| &8 |06| 28 535 |12 000[18300 |18 300
19 |21.Bmax| 58 1max|3656| 8|08l 6| 3|8 [1 | 29 86.2 |14 BOO |25 200 |25 200
21 |25.6max| 86 1max|405| 9|08 6| 4| 8 |1 | 34 |119 |20700|34 600 |34 500
71 |25.6max| 66.1max|405| 9|og| 6| 4| 8 |1 | 34 |119 |20700{34 600 |34 500
26 |30,6max| BO.1max| 4895|1108 8 | 4 |12 |1 | 40 |215 |30600(52 800|562 000
25 |30.6max| BO.1max| 4905|1108 6 | 4 |12 |1 | 40 |215 |30500(52 600 |52 000
32 |37 max|100 max|63 |16(1 |8 | 4 (17 |1 | 49 {438 |45400(86 100|856 100
32 |37 max|100 max|63 |16[1 [ & | 4|17 |1 | 49 |438 |45 400{86 100|856 100
32 |37 max|100 max|63 |16(1 |8 | 4 (17 |1 | 49 {438 |45400|86 100|856 100

1M =0 102kgf

CF

CES
NUCF
CR

R EEEEARE AR TEL : 886-3-3235599 FAX : 886-3-313B966 www wibmotion com 351



